
D
E
C
E
M
B
E
R
  2
0
21



2021 December

TEKNOROT REF: A-815 ADAPTABLE VOLKSWAGEN
Ball Joint

Weight: 0,14

PHAETON

MODEL NO BODY YEAR DIRECTION OEM NO

2002-2016 Rear Lower
4E0501529C*, 4E0501529D*,

4E0501529G*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 110 Bolt Metric: M12X1,5

A-817 Lateral Arm Rear Lower 4E0501529D, 4E0501529G

TEKNOROT REF: A-815 ADAPTABLE BENTLEY
Ball Joint

Weight: 0,14

CONTINENTAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

(3D) 2011- Rear Lower
4E0501529C*, 4E0501529D*,

4E0501529G*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 110 Bolt Metric: M12X1,5

A-817 Lateral Arm Rear Lower 4E0501529D, 4E0501529G

www.teknorot.com 1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: AF-428 ADAPTABLE ALFA ROMEO
Lateral Arm

Weight: 0,483

GIULIA

MODEL NO BODY YEAR DIRECTION OEM NO

2015- Rear Upper 50543275, 50541788

Length: 281

TEKNOROT REF: AF-428 ADAPTABLE ALFA ROMEO
Lateral Arm

Weight: 0,483

STELVIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2016- Rear Upper 50543275, 50541788

Length: 281

www.teknorot.com 2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: B-1033 ADAPTABLE BMW
Steering Tie Rod

Weight: 0,657

X5

MODEL NO BODY YEAR DIRECTION OEM NO

G05 2019- Front 32106884810*, 32106884809*

Standard Steering

Length: 254 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

TEKNOROT REF: B-1033 ADAPTABLE BMW
Steering Tie Rod

Weight: 0,657

X6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G06 2019- Front 32106884810*, 32106884809*

Standard Steering

Length: 254 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.teknorot.com 3

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: B-1033 ADAPTABLE BMW
Steering Tie Rod

Weight: 0,657

X7

MODEL NO BODY YEAR DIRECTION OEM NO

G07 2019- Front 32106884810*, 32106884809*

Standard Steering

Length: 254 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

TEKNOROT REF: B-10511033 ADAPTABLE BMW
Steering Tie Rod Assembly

Weight: 1,515

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05 2019- Front Right 32106884810

COMPONENTS NUMBER NAME DIRECTION OEM NO

Standard Steering

Length: 254 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

B-1033
Steering Tie

Rod Front 32106884810*, 32106884809*

B-1051  32106887406

www.teknorot.com 4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Steering Tie
Rod End 

Front Right



2021 December

TEKNOROT REF: B-10511033 ADAPTABLE BMW
Steering Tie Rod Assembly

Weight: 1,515

X6

MODEL NO BODY YEAR DIRECTION OEM NO

G06 2019- Front Right 32106884810

COMPONENTS NUMBER NAME DIRECTION OEM NO

Standard Steering

Length: 254 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

B-1033
Steering Tie

Rod
Front 32106884810*, 32106884809*

B-1051  32106887406

TEKNOROT REF: B-10511033 ADAPTABLE BMW
Steering Tie Rod Assembly

Weight: 1,515

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2019- Front Right 32106884810

COMPONENTS NUMBER NAME DIRECTION OEM NO

Standard Steering

Length: 254 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

B-1033
Steering Tie

Rod
Front 32106884810*, 32106884809*

B-1051  32106887406

www.teknorot.com 5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Steering Tie
Rod End 

Front Right

Steering Tie
Rod End 

Front Right



2021 December

TEKNOROT REF: B-10521033 ADAPTABLE BMW
Steering Tie Rod Assembly

Weight: 1,515

X5

MODEL NO BODY YEAR DIRECTION OEM NO

G05 2019- Front Left 32106884809

COMPONENTS NUMBER NAME DIRECTION OEM NO

Standard Steering

Length: 254 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

B-1033
Steering Tie

Rod
Front 32106884810*, 32106884809*

B-1052  32106887405

TEKNOROT REF: B-10521033 ADAPTABLE BMW
Steering Tie Rod Assembly

Weight: 1,515

X6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G06 2019- Front Left 32106884809

COMPONENTS NUMBER NAME DIRECTION OEM NO

Standard Steering

Length: 254 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

B-1033
Steering Tie

Rod
Front 32106884810*, 32106884809*

B-1052  32106887405

www.teknorot.com 6

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Steering Tie
Rod End 

Front Left

Steering Tie
Rod End 

Front Left



2021 December

TEKNOROT REF: B-10521033 ADAPTABLE BMW
Steering Tie Rod Assembly

Weight: 1,515

X7

MODEL NO BODY YEAR DIRECTION OEM NO

G07 2019- Front Left 32106884809

COMPONENTS NUMBER NAME DIRECTION OEM NO

Standard Steering

Length: 254 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

B-1033
Steering Tie

Rod
Front 32106884810*, 32106884809*

B-1052 32106887405

TEKNOROT REF: B-1198 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,218

7-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G11, G12 2017- Front Upper 31106868530

Length: 237

www.teknorot.com 7

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Steering Tie
Rod End Front Left



2021 December

TEKNOROT REF: B-1198 ADAPTABLE BMW
Control Arm and Ball Joint
Assembly

Weight: 3,218

6-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

G32 2017- Front Upper 31106868530

Length: 237

TEKNOROT REF: BU-203 ADAPTABLE BUICK
Steering Tie Rod

Weight: 0,599

ENVISION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2017- Front 23272692

2.0L Turbo Eng

Length: 241 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.teknorot.com 8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: BU-208 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,644

MONTE CARLO

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 1995-1999 Rear 10282766

Length: 548,5

TEKNOROT REF: BU-208 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 1,644

LUMINA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1995-2001 Rear 10282766

Length: 548,5

www.teknorot.com 9

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: BU-208 ADAPTABLE PONTIAC
Lateral Arm

Weight: 1,644

GRAND PRIX

MODEL NO BODY YEAR DIRECTION OEM NO

1997-2003 Rear 10282766

Length: 548,5

TEKNOROT REF: CH-1046 ADAPTABLE CHEVROLET
Stabilizer Bar Link

Weight: 0,254

TRAILBLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2002-2009 Front K700535, 10030987, 3879220

Moog Type

Length: 177 Bolt Metric: 3/8-16 UNC

YEAR ONLY
2008-2009

www.teknorot.com 10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CH-1046 ADAPTABLE GMC
Stabilizer Bar Link

Weight: 0,254

ENVOY

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2002-2009 Front K700535, 10030987, 3879220

Moog Type

Length: 177 Bolt Metric: 3/8-16 UNC

YEAR ONLY
2008-2009

TEKNOROT REF: CH-1046 ADAPTABLE SAAB
Stabilizer Bar Link

Weight: 0,254

9_7X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2005-2009 Front K700535, 10030987, 3879220

Moog Type

Length: 177 Bolt Metric: 3/8-16 UNC

YEAR ONLY
2008-2009

www.teknorot.com 11

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CH-1113 ADAPTABLE CHEVROLET
Steering Tie Rod

Weight: 0,585

BOLT EV

MODEL NO BODY YEAR DIRECTION OEM NO

2016- Front 42353792

Length: 285,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

TEKNOROT REF: CH-918K ADAPTABLE CHEVROLET
Control Arm Kit

Weight: 6,45

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2015
Front Right

Lower
20774419*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

www.teknorot.com 12

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CH-918K ADAPTABLE BUICK
Control Arm Kit

Weight: 6,45

ENCLAVE

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2008-2015
Front Right

Lower
20774419*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

TEKNOROT REF: CH-918K ADAPTABLE GMC
Control Arm Kit

Weight: 6,45

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2007-2017
Front Right

Lower
20774419*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

www.teknorot.com 13

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CH-918K ADAPTABLE SATURN
Control Arm Kit

Weight: 6,45

OUTLOOK

MODEL NO BODY YEAR DIRECTION OEM NO

2007-2010
Front Right

Lower
20774419*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

TEKNOROT REF: CH-919K ADAPTABLE CHEVROLET
Control Arm Kit

Weight: 6,45

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2015
Front Left

Lower
25995438*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

www.teknorot.com 14

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CH-919K ADAPTABLE BUICK
Control Arm Kit

Weight: 6,45

ENCLAVE

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2008-2015
Front Left

Lower
25995438*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

TEKNOROT REF: CH-919K ADAPTABLE GMC
Control Arm Kit

Weight: 6,45

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2007-2017
Front Left

Lower
25995438*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

www.teknorot.com 15

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CH-919K ADAPTABLE SATURN
Control Arm Kit

Weight: 6,45

OUTLOOK

MODEL NO BODY YEAR DIRECTION OEM NO

2007-2010
Front Left

Lower
25995438*

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 343,7 Bolt Metric: M14X2

CH-915 Ball Joint Front 19207521

CH-BS109
Control Arm

Bushing
Front Lower

Outer
20774419*, 25995438*

TEKNOROT REF: CH-BS109 ADAPTABLE CHEVROLET
Control Arm Bushing

Weight: 1,507

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2015
Front Lower

Outer
20774419*, 25995438*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 86

CH-918K Control Arm Kit
Front Right

Lower
20774419*

CH-919K Control Arm Kit
Front Left

Lower
25995438*

www.teknorot.com 16

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CH-BS109 ADAPTABLE BUICK
Control Arm Bushing

Weight: 1,507

ENCLAVE

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2008-2015
Front Lower

Outer
20774419*, 25995438*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 86

CH-918K Control Arm Kit
Front Right

Lower
20774419*

CH-919K Control Arm Kit
Front Left

Lower
25995438*

TEKNOROT REF: CH-BS109 ADAPTABLE GMC
Control Arm Bushing

Weight: 1,507

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2007-2017
Front Lower

Outer
20774419*, 25995438*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 86

CH-918K Control Arm Kit
Front Right

Lower
20774419*

CH-919K Control Arm Kit
Front Left

Lower
25995438*

www.teknorot.com 17

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CR-441 ADAPTABLE CHRYSLER
Steering Tie Rod End

Weight: 1,041

PACIFICA

MODEL NO BODY YEAR DIRECTION OEM NO

2016-
Front Right

Outer
68318142AB

Length: 224 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: CR-441 ADAPTABLE CHRYSLER
Steering Tie Rod End

Weight: 1,041

VOYAGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020-
Front Right

Outer
68318142AB

Length: 224 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 18

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CR-442 ADAPTABLE CHRYSLER
Steering Tie Rod End

Weight: 1,041

PACIFICA

MODEL NO BODY YEAR DIRECTION OEM NO

2016-
Front Left

Outer
68318141AB

Length: 224 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: CR-442 ADAPTABLE CHRYSLER
Steering Tie Rod End

Weight: 1,041

VOYAGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020-
Front Left

Outer
68318141AB

Length: 224 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 19

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CR-473 ADAPTABLE CHRYSLER
Steering Tie Rod

Weight: 0,662

PACIFICA

MODEL NO BODY YEAR DIRECTION OEM NO

2016- Front 68318140AA

Length: 251 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

TEKNOROT REF: CR-473 ADAPTABLE CHRYSLER
Steering Tie Rod

Weight: 0,662

VOYAGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front 68318140AA

Length: 251 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

www.teknorot.com 20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: CR-488 ADAPTABLE CHRYSLER
Control Arm and Ball Joint
Assembly

Weight: 0,933

PT CRUISER

MODEL NO BODY YEAR DIRECTION OEM NO

2000-2010
Rear Right

Upper
4656467AD

Length: 343 Bolt Metric: M12X1,25

TEKNOROT REF: CR-489 ADAPTABLE CHRYSLER
Control Arm and Ball Joint
Assembly

Weight: 1,235

PT CRUISER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2000-2010
Rear Left

Upper
4656466AD

Length: 537 Bolt Metric: M12X1,25

www.teknorot.com 21

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: DO-385 ADAPTABLE DODGE
Ball Joint

Weight: 0,701

RAM 1500

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2009-2010 Front Lower 68037500AC*, 68037501AC*

w/ 5 Lug Wheels; RWD

Length: 127,1 Bolt Metric: M16X1,5

TEKNOROT REF: DO-385 ADAPTABLE RAM
Ball Joint

Weight: 0,701

1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011- Front Lower 68037500AC*, 68037501AC*

w/ 5 Lug Wheels; RWD

Length: 127,1 Bolt Metric: M16X1,5

YEAR ONLY
2011-2012

www.teknorot.com 22

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: DO-396 ADAPTABLE DODGE
Stabilizer Bar Link

Weight: 0,603

RAM 2500

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2002-2009 Front K750757, 5139522AA

Moog Type/4WD;
Electronic Disconnect

Length: 123 Bolt Metric: M10X1,5

YEAR ONLY
2005

TEKNOROT REF: DO-413 ADAPTABLE DODGE
Steering Tie Rod

Weight: 0,687

DAKOTA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1997-1999 Front EV351, 5083169AB

Moog Type,RWD

Length: 344,5 Bolt Metric: M15X1,5 Housing Metric: M14X1,5

www.teknorot.com 23

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: DO-413 ADAPTABLE DODGE
Steering Tie Rod

Weight: 0,687

DURANGO

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1998-2003 Front EV351, 5083169AB

Moog Type,RWD

Length: 344,5 Bolt Metric: M15X1,5 Housing Metric: M14X1,5

TEKNOROT REF: DO-421 ADAPTABLE DODGE
Steering Tie Rod End

Weight: 1,267

DURANGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2017-
Front Right

Outer
68303630AA

Length: 209 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 24

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: DO-421 ADAPTABLE JEEP
Steering Tie Rod End

Weight: 1,267

GRAND CHEROKEE

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2017-
Front Right

Outer
68303630AA

Length: 209 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: DO-422 ADAPTABLE DODGE
Steering Tie Rod End

Weight: 1,267

DURANGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2017-
Front Left

Outer
68303631AA

Length: 209 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 25

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: DO-422 ADAPTABLE JEEP
Steering Tie Rod End

Weight: 1,267

GRAND CHEROKEE

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2017-
Front Left

Outer
68303631AA

Length: 209 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: DO-423 ADAPTABLE DODGE
Steering Tie Rod End

Weight: 0,736

DURANGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2004-2009 Front EV800573

Moog Type, M16

Length: 274 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.teknorot.com 26

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: DO-478 ADAPTABLE DODGE
Control Arm and Ball Joint
Assembly

Weight: 2,689

DAKOTA

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2005-2010 Front Upper 52855100AF, 52855100AC

Length: 185 Bolt Metric: M14X1,5

TEKNOROT REF: DO-478 ADAPTABLE MITSUBISHI
Control Arm and Ball Joint
Assembly

Weight: 2,689

RAIDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2006-2009 Front Upper 52855100AF, 52855100AC

Length: 185 Bolt Metric: M14X1,5

www.teknorot.com 27

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: F-1023 ADAPTABLE FIAT
Steering Tie Rod

Weight: 0,4

500

MODEL NO BODY YEAR DIRECTION OEM NO

2012-2019 Front 68105871AB, 68111382AA

Length: 239 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

TEKNOROT REF: F-1023 ADAPTABLE FIAT
Steering Tie Rod

Weight: 0,4

PANDA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

312 2012- Front 68105871AB, 68111382AA

Length: 239 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

www.teknorot.com 28

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: F-1023 ADAPTABLE LANCIA
Steering Tie Rod

Weight: 0,4

YPSILON

MODEL NO BODY YEAR DIRECTION OEM NO

312,846 2011- Front 68105871AB, 68111382AA

Length: 239 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

TEKNOROT REF: FO-1204 ADAPTABLE FORD
Ball Joint

Weight: 0,332

PUMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front
2422614*, LT1C3042AB*,
2422615*, L1TC3051AB*

Length: 68,7

www.teknorot.com 29

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1207A ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,339

GALAXY

MODEL NO BODY YEAR DIRECTION OEM NO

CK 2015- Rear
5295981, F2GC5C486AXB,
2463429, F2C5C486AXC

Metal Type

Length: 120,5 Bolt Metric: M12X1,25

TEKNOROT REF: FO-1207A ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,339

S-MAX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CJ 2015- Rear
5295981, F2GC5C486AXB,
2463429, F2C5C486AXC

Metal Type

Length: 120,5 Bolt Metric: M12X1,25

www.teknorot.com 30

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1207A ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,339

EDGE

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2015- Rear
5295981, F2GC5C486AXB,
2463429, F2C5C486AXC

Metal Type

Length: 120,5 Bolt Metric: M12X1,25

TEKNOROT REF: FO-1207A ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,339

MUSTANG

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2016- Rear
5295981, F2GC5C486AXB,
2463429, F2C5C486AXC

Metal Type

Length: 120,5 Bolt Metric: M12X1,25

www.teknorot.com 31

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1271 ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,54

KUGA

MODEL NO BODY YEAR DIRECTION OEM NO

III 2020- Front Right 2500065, LX6C3289AB

Length: 122 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

TEKNOROT REF: FO-1272 ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,54

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Left 2500067, LX6C3290AB

Length: 122 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

www.teknorot.com 32

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1293 ADAPTABLE FORD
Steering Tie Rod

Weight: 0,553

RANGER

MODEL NO BODY YEAR DIRECTION OEM NO

2019- Front KB3Z3280A

USA Market

Length: 202 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: FO-1386 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,574

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I USA Type 1998-2011 Rear F77Z5K484HA

AWD Heavy Duty Susp.

Length: 276 Bolt Metric: M12X1,75

www.teknorot.com 33

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1389 ADAPTABLE FORD
Lateral Arm

Weight: 3,707

FOCUS

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2019- Rear 2281101, JX615K652AEB

Multilink Rear Axle

Length: 561

TEKNOROT REF: FO-1396 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,574

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I USA Type 1998-2011 Rear F77Z5K484GA

2WD Standard Duty
Susp.

Length: 202,5 Bolt Metric: M12X1,75

www.teknorot.com 34

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1406 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,844

F-450 SUPER DUTY

MODEL NO BODY YEAR DIRECTION OEM NO

2005-2016 Rear K700366

Moog Type, 12.5" Center
To Center

Length: 315 Bolt Metric: M12X1,75

YEAR ONLY
2008-2010

TEKNOROT REF: FO-1406 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,844

F-550 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2005-2016 Rear K700366

Moog Type, 12.5" Center
To Center

Length: 315 Bolt Metric: M12X1,75

YEAR ONLY
2008-2010

www.teknorot.com 35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1466 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,62

EXCURSION

MODEL NO BODY YEAR DIRECTION OEM NO

2000-2005 Rear K80161, YC3Z5K484AA

Moog Type

Length: 145 Bolt Metric: M12X1,75

TEKNOROT REF: FO-1538 ADAPTABLE FORD
Control Arm and Ball Joint
Assembly

Weight: 3,663

EXPEDITION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2006
Front Right

Upper
2L1Z3084CA

Adjustable Suspension

Length: 193 Bolt Metric: M14X2

YEAR ONLY
2003-2004

www.teknorot.com 36

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1538 ADAPTABLE LINCOLN
Control Arm and Ball Joint
Assembly

Weight: 3,663

NAVIGATOR

MODEL NO BODY YEAR DIRECTION OEM NO

UN173, U228 2003-2006
Front Right

Upper
2L1Z3084CA

Adjustable Suspension

Length: 193 Bolt Metric: M14X2

YEAR ONLY
2003-2004

TEKNOROT REF: FO-1539 ADAPTABLE FORD
Control Arm and Ball Joint
Assembly

Weight: 3,663

EXPEDITION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2006
Front Left

Upper
2L1Z3085AA

Adjustable Suspension

Length: 193 Bolt Metric: M14X2

YEAR ONLY
2003-2004

www.teknorot.com 37

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1539 ADAPTABLE LINCOLN
Control Arm and Ball Joint
Assembly

Weight: 3,663

NAVIGATOR

MODEL NO BODY YEAR DIRECTION OEM NO

UN173, U228 2003-2006
Front Left

Upper
2L1Z3085AA

Adjustable Suspension

Length: 193 Bolt Metric: M14X2

YEAR ONLY
2003-2004

TEKNOROT REF: FO-1608 ADAPTABLE FORD
Lateral Arm

Weight: 1,486

CROWN VICTORIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1998-2012 Rear Lower 8W1Z5A649A

Length: 467,5

www.teknorot.com 38

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-1608 ADAPTABLE LINCOLN
Lateral Arm

Weight: 1,486

TOWN CAR

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 1998-2011 Rear Lower 8W1Z5A649A

Length: 467,5

TEKNOROT REF: FO-1608 ADAPTABLE MERCURY
Lateral Arm

Weight: 1,486

GRAND MARQUIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2003-2011 Rear Lower 8W1Z5A649A

Length: 467,5

www.teknorot.com 39

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-993 ADAPTABLE FORD
Steering Tie Rod

Weight: 0,603

FLEX

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2009-2012 Front Inner 8G1Z3280B

Length: 300 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

YEAR ONLY
2009

TEKNOROT REF: FO-993 ADAPTABLE FORD
Steering Tie Rod

Weight: 0,603

FIVE HUNDRED

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2004-2007 Front Inner 8G1Z3280B

Length: 300 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 40

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-993 ADAPTABLE FORD
Steering Tie Rod

Weight: 0,603

FREESTYLE

MODEL NO BODY YEAR DIRECTION OEM NO

2005-2007 Front Inner 8G1Z3280B

Length: 300 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: FO-993 ADAPTABLE FORD
Steering Tie Rod

Weight: 0,603

TAURUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2008-2009 Front Inner 8G1Z3280B

Length: 300 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 41

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: FO-993 ADAPTABLE MERCURY
Steering Tie Rod

Weight: 0,603

SABLE

MODEL NO BODY YEAR DIRECTION OEM NO

2006- Front Inner 8G1Z3280B

Length: 300 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

TEKNOROT REF: FO-993 ADAPTABLE MERCURY
Steering Tie Rod

Weight: 0,603

MONTEGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2005-2007 Front Inner 8G1Z3280B

Length: 300 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 42

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: H-1041 ADAPTABLE HONDA
Steering Tie Rod End

Weight: 0,252

INSIGHT

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen, ZE1 2000-2006 Front Right 53541S3Y020

Length: 152 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

TEKNOROT REF: H-1042 ADAPTABLE HONDA
Steering Tie Rod End

Weight: 0,262

INSIGHT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen, ZE1 2000-2006 Front Left 53542S3Y020

Length: 168 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

www.teknorot.com 43

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: H-1086 ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,569

RIDGELINE

MODEL NO BODY YEAR DIRECTION OEM NO

2006-2014 Front 51320SJCA01

Length: 369 Bolt Metric: M12X1,25

TEKNOROT REF: H-1203 ADAPTABLE HONDA
Steering Tie Rod

Weight: 0,581

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2018- Front 53610THRA01

Length: 231 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 44

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: H-1248 ADAPTABLE HONDA
Lateral Arm

Weight: 1,372

PASSPORT

MODEL NO BODY YEAR DIRECTION OEM NO

YF7/8 2019-
Rear Right

Lower Forward
52370TZ5A91, 52370TZ5A90

Length: 463

TEKNOROT REF: H-1248 ADAPTABLE HONDA
Lateral Arm

Weight: 1,372

PILOT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2016-
Rear Right

Lower Forward
52370TZ5A91, 52370TZ5A90

Length: 463

www.teknorot.com 45

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: H-1248 ADAPTABLE HONDA
Lateral Arm

Weight: 1,372

RIDGELINE

MODEL NO BODY YEAR DIRECTION OEM NO

YK2/3 2017-
Rear Right

Lower Forward
52370TZ5A91, 52370TZ5A90

Length: 463

TEKNOROT REF: H-1248 ADAPTABLE ACURA
Lateral Arm

Weight: 1,372

MDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2014-2019
Rear Right

Lower Forward
52370TZ5A91, 52370TZ5A90

Length: 463

www.teknorot.com 46

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: H-1249 ADAPTABLE HONDA
Lateral Arm

Weight: 1,372

PASSPORT

MODEL NO BODY YEAR DIRECTION OEM NO

YF7/8 2019-
Rear Left

Lower Forward
52375TZ5A91, 52375TZ5A90

Length: 463

TEKNOROT REF: H-1249 ADAPTABLE HONDA
Lateral Arm

Weight: 1,372

PILOT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2016-
Rear Left

Lower Forward
52375TZ5A91, 52375TZ5A90

Length: 463

www.teknorot.com 47

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: H-1249 ADAPTABLE HONDA
Lateral Arm

Weight: 1,372

RIDGELINE

MODEL NO BODY YEAR DIRECTION OEM NO

YK2/3 2017-
Rear Left

Lower Forward
52375TZ5A91, 52375TZ5A90

Length: 463

TEKNOROT REF: H-1249 ADAPTABLE ACURA
Lateral Arm

Weight: 1,372

MDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2014-2019
Rear Left

Lower Forward
52375TZ5A91, 52375TZ5A90

Length: 463

www.teknorot.com 48

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: HM-216 ADAPTABLE HUMMER
Stabilizer Bar Link

Weight: 0,445

H3

MODEL NO BODY YEAR DIRECTION OEM NO

2005-2010 Front 19168014, 15120889

Length: 129 Bolt Metric: M12X1,75

TEKNOROT REF: HM-223 ADAPTABLE HUMMER
Steering Tie Rod

Weight: 0,727

H3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2005-2010 Front 25988407

Length: 283 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

YEAR ONLY
2007-2010

www.teknorot.com 49

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: HY-1068 ADAPTABLE HYUNDAI
Control Arm and Ball Joint
Assembly

Weight: 3,364

CRETA

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2015-
Front Right

Lower
54501M0000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,5 Bolt Metric: M12X1,25

HY-290 Ball Joint Front Lower 545300U000, 545303X000

TEKNOROT REF: HY-1069 ADAPTABLE HYUNDAI
Control Arm and Ball Joint
Assembly

Weight: 3,364

CRETA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2015-
Front Left

Lower
54500M0000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,5 Bolt Metric: M12X1,25

HY-290 Ball Joint Front Lower 545300U000, 545303X000

www.teknorot.com 50

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: HY-1098 ADAPTABLE HYUNDAI
Control Arm and Ball Joint
Assembly

Weight: 3,343

I20

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2020-
Front Right

Lower
54501Q0000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 368,8 Bolt Metric: M12X1,25

HY-290 Ball Joint Front Lower 545300U000, 545303X000

HY-BS141
Control Arm

Bushing
Front Lower

Outer
54501Q0000*, 54500Q0000*

SB 1065
Control Arm

Bushing
Front Lower 54501C8000*, 54500C8000*

TEKNOROT REF: HY-1099 ADAPTABLE HYUNDAI
Control Arm and Ball Joint
Assembly

Weight: 3,343

I20

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2020-
Front Left

Lower
54500Q0000

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 368,8 Bolt Metric: M12X1,25

HY-290 Ball Joint Front Lower 545300U000, 545303X000

HY-BS141
Control Arm

Bushing
Front Lower

Outer
54501Q0000*, 54500Q0000*

SB 1065
Control Arm

Bushing
Front Lower 54501C8000*, 54500C8000*

www.teknorot.com 51

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: HY-BS141 ADAPTABLE HYUNDAI
Control Arm Bushing

Weight: 0,472

I20

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2020-
Front Lower

Outer
54501Q0000*, 54500Q0000*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 60

HY-1098
Control Arm

and Ball Joint
Assembly

Front Right
Lower

54501Q0000

HY-1099
Control Arm

and Ball Joint
Assembly

Front Left
Lower

54500Q0000

TEKNOROT REF: IN-143 ADAPTABLE INFINITI
Steering Tie Rod

Weight: 0,46

Q60

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2014- Front D85215CA0A

W/O Adaptive Steering,
3.0L Turbo Eng.

Length: 173 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.teknorot.com 52

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: JA-1048 ADAPTABLE JAGUAR
Lateral Arm

Weight: 1,57

E-PACE

MODEL NO BODY YEAR DIRECTION OEM NO

X540 2017-
Rear Right

Upper
J9C1348, J9C6195

Length: 363

TEKNOROT REF: JA-1048 ADAPTABLE LAND ROVER
Lateral Arm

Weight: 1,57

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550 2019-
Rear Right

Upper
J9C1348, J9C6195

Length: 363

www.teknorot.com 53

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: JA-1048 ADAPTABLE LAND ROVER
Lateral Arm

Weight: 1,57

RANGE ROVER
EVOQUE

MODEL NO BODY YEAR DIRECTION OEM NO

L551 2018-
Rear Right

Upper
J9C1348, J9C6195

Length: 363

TEKNOROT REF: JA-1049 ADAPTABLE JAGUAR
Lateral Arm

Weight: 1,57

E-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X540 2017-
Rear Left

Upper
J9C1717, J9C6196

Length: 363

www.teknorot.com 54

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: JA-1049 ADAPTABLE LAND ROVER
Lateral Arm

Weight: 1,57

DISCOVERY SPORT

MODEL NO BODY YEAR DIRECTION OEM NO

L550 2019-
Rear Left

Upper
J9C1717, J9C6196

Length: 363

TEKNOROT REF: JA-1049 ADAPTABLE LAND ROVER
Lateral Arm

Weight: 1,57

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2018-
Rear Left

Upper
J9C1717, J9C6196

Length: 363

www.teknorot.com 55

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: JE-386 ADAPTABLE JEEP
Stabilizer Bar Link

Weight: 0,619

CHEROKEE

MODEL NO BODY YEAR DIRECTION OEM NO

KL 2014- Rear
K750741, 68224731AA,

68224731AB

Moog Type / AWD; W/O
Road Suspension

Length: 245 Bolt Metric: M10X1,25

TEKNOROT REF: JE-428 ADAPTABLE JEEP
Lateral Arm

Weight: 1,838

COMMANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XK 2005-2010 Rear Upper 52089629AC

Std Susp

Length: 412

YEAR ONLY
2008-2010

www.teknorot.com 56

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: JE-428 ADAPTABLE JEEP
Lateral Arm

Weight: 1,838

GRAND CHEROKEE

MODEL NO BODY YEAR DIRECTION OEM NO

III WH/WK 2005-2010 Rear Upper 52089629AC

Std Susp

Length: 412

YEAR ONLY
2008-2010

TEKNOROT REF: LA-121323 ADAPTABLE LAND ROVER
Steering Center Link

Weight: 1,923

FREELANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I(LN) 1998-2006 Front Right QFK000070

COMPONENTS NUMBER NAME DIRECTION OEM NO

4X4

Length: 484 Bolt Metric: M12X1,5 Housing Metric: M16X1,5

LA-121 Tie Rod End Front Right QJB100220, RBJ100220

LA-323
Steering Tie

Rod
Rot Mili AWD, Forged Steel, 504, 40

www.teknorot.com 57

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: LA-122333 ADAPTABLE LAND ROVER
Steering Center Link

Weight: 1,923

FREELANDER

MODEL NO BODY YEAR DIRECTION OEM NO

I(LN) 1998-2006 Front Left QFK000080

COMPONENTS NUMBER NAME DIRECTION OEM NO

4X4

Length: 484 Bolt Metric: M12X1,5 Housing Metric: M16X1,5

LA-122 Tie Rod End Front Left QJB100230, RBJ100230

LA-333
Steering Tie

Rod
Rot Mili AWD, Forged Steel, 504, 40

TEKNOROT REF: LA-266 ADAPTABLE LAND ROVER
Stabilizer Bar Link

Weight: 0,318

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2018- Rear Right J9C1129, LR114303

Length: 159 Bolt Metric: M10X1,5

www.teknorot.com 58

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: LA-266 ADAPTABLE LAND ROVER
Stabilizer Bar Link

Weight: 0,318

DISCOVERY SPORT

MODEL NO BODY YEAR DIRECTION OEM NO

L550 2019- Rear Right J9C1129, LR114303

Length: 159 Bolt Metric: M10X1,5

TEKNOROT REF: LA-266 ADAPTABLE JAGUAR
Stabilizer Bar Link

Weight: 0,318

E-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X540 2017- Rear Right J9C1129, LR114303

Length: 159 Bolt Metric: M10X1,5

www.teknorot.com 59

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: LA-267 ADAPTABLE LAND ROVER
Stabilizer Bar Link

Weight: 0,318

RANGE ROVER
EVOQUE

MODEL NO BODY YEAR DIRECTION OEM NO

L551 2018- Rear Left J9C1131, LR114304

Length: 159 Bolt Metric: M10X1,5

TEKNOROT REF: LA-267 ADAPTABLE LAND ROVER
Stabilizer Bar Link

Weight: 0,318

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550 2019- Rear Left J9C1131, LR114304

Length: 159 Bolt Metric: M10X1,5

www.teknorot.com 60

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: LA-267 ADAPTABLE JAGUAR
Stabilizer Bar Link

Weight: 0,318

E-PACE

MODEL NO BODY YEAR DIRECTION OEM NO

X540 2017- Rear Left J9C1131, LR114304

Length: 159 Bolt Metric: M10X1,5

TEKNOROT REF: LX-334 ADAPTABLE LEXUS
Ball Joint

Weight: 0,962

IS300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1999-2005
Front Right

Lower
4333059135

Length: 118 Bolt Metric: M14X1,5

www.teknorot.com 61

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: LX-335 ADAPTABLE LEXUS
Ball Joint

Weight: 0,962

IS300

MODEL NO BODY YEAR DIRECTION OEM NO

1999-2005
Front Left

Lower
4334059135

Length: 118 Bolt Metric: M14X1,5

TEKNOROT REF: MI-818 ADAPTABLE MITSUBISHI
Control Arm and Ball Joint
Assembly

Weight: 12,526

RAIDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2006-2009
Front Right

Lower
52855106AB

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 332,5 Bolt Metric: M16X1,5

DO-304 Ball Joint Front Lower 5161685AB

www.teknorot.com 62

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: MI-818 ADAPTABLE DODGE
Control Arm and Ball Joint
Assembly

Weight: 12,526

DAKOTA

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2005-2010
Front Right

Lower
52855106AB

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 332,5 Bolt Metric: M16X1,5

DO-304 Ball Joint Front Lower 5161685AB

TEKNOROT REF: MI-819 ADAPTABLE MITSUBISHI
Control Arm and Ball Joint
Assembly

Weight: 12,526

RAIDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2006-2009
Front Left

Lower
52855107AB

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 332,5 Bolt Metric: M16X1,5

DO-304 Ball Joint Front Lower 5161685AB

www.teknorot.com 63

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: MI-819 ADAPTABLE DODGE
Control Arm and Ball Joint
Assembly

Weight: 12,526

DAKOTA

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2005-2010
Front Left

Lower
52855107AB

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 332,5 Bolt Metric: M16X1,5

DO-304 Ball Joint Front Lower 5161685AB

TEKNOROT REF: MI-BS082 ADAPTABLE MITSUBISHI
Lateral Arm Bushing

Weight: 0,186

ECLIPSE CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Rear Upper 4110A133

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 49,7

MI-798 Lateral Arm Rear Upper 4110A133

www.teknorot.com 64

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: N-1045 ADAPTABLE NISSAN
Ball Joint

Weight: 0,717

FRONTIER

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1999-2004 Front Lower
CMS301131*, 545003S550*,
545003S525*, CMS301132*

Length: 115,4 Bolt Metric: M18X1,5

TEKNOROT REF: N-1081 ADAPTABLE NISSAN
Idler Arm

Weight: 1,498

PICKUP

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

(D21) 1985-1998 Front
SI4825, 4853001G00,

4853001G25, D8530VK91A

Left-Handed Drive
Vehicles

Length: 123 Bolt Metric: M12X1,25

www.teknorot.com 65

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: N-1081 ADAPTABLE NISSAN
Idler Arm

Weight: 1,498

PICKUP

MODEL NO BODY YEAR DIRECTION OEM NO

(D22) 1998-2012 Front
SI4825, 4853001G00,

4853001G25, D8530VK91A

Left-Handed Drive
Vehicles

Length: 123 Bolt Metric: M12X1,25

TEKNOROT REF: N-1091 ADAPTABLE NISSAN
Idler Arm

Weight: 1,432

FRONTIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2004 Front D8530VK90A

3.3 Eng. , 4WD

Length: 129 Bolt Metric: M12X1,25

YEAR ONLY
1998-1999

www.teknorot.com 66

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: N-1268 ADAPTABLE INFINITI
Lateral Arm

Weight: 2,141

QX4

MODEL NO BODY YEAR DIRECTION OEM NO

R50 1997-2004 Rear Upper 551202W100, 551102W400

2WD

Length: 309,5

YEAR ONLY
2001

TEKNOROT REF: N-1268 ADAPTABLE NISSAN
Lateral Arm

Weight: 2,141

PATHFINDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R50 1997-2004 Rear Upper 551202W100, 551102W400

Length: 309,5

www.teknorot.com 67

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: N-938 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 3,52

PICKUP

MODEL NO BODY YEAR DIRECTION OEM NO

(D22) 1998-2012
Front Right

Lower
E45022S485, 545022S485

COMPONENTS NUMBER NAME DIRECTION OEM NO

2WD

Length: 365,7 Bolt Metric: M18X1,5

N-1025
Suspension

Ball Joint
Fron Lower 545002S688*

YEAR ONLY
1998-2005

TEKNOROT REF: N-939 ADAPTABLE NISSAN
Control Arm and Ball Joint
Assembly

Weight: 3,52

PICKUP

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

(D22) 1998-2012
Front Left

Lower
E45032S485, 545032S485

COMPONENTS NUMBER NAME DIRECTION OEM NO

2WD

Length: 365,7 Bolt Metric: M18X1,5

N-1025
Suspension

Ball Joint
Fron Lower 545002S688*

YEAR ONLY
1998-2005

www.teknorot.com 68

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: R-1011 ADAPTABLE RENAULT
Steering Tie Rod End

Weight: 0,244

KWID

MODEL NO BODY YEAR DIRECTION OEM NO

2017- Front 485206512R

Length: 76,5 Bolt Metric: M10X1,25 Housing Metric: M12X1,25

TEKNOROT REF: SU-668 ADAPTABLE SUBARU
Control Arm and Ball Joint
Assembly

Weight: 3,209

IMPREZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GE, GH, GR,
GV

2008-2011 Front Right 20202FG021

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only Sti Model

Length: 361,5 Bolt Metric: M12X1,25

SU-634
Suspension

Ball Joint
Front Lower 20202FG021*

YEAR ONLY
2008-2010

www.teknorot.com 69

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: SU-669 ADAPTABLE SUBARU
Control Arm and Ball Joint
Assembly

Weight: 3,209

IMPREZA

MODEL NO BODY YEAR DIRECTION OEM NO

GE, GH, GR,
GV

2008-2011 Front Left 20202FG031

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only Sti Model

Length: 361,5 Bolt Metric: M12X1,25

SU-634
Suspension

Ball Joint
Front Lower 20202FG021*

YEAR ONLY
2008-2010

TEKNOROT REF: T-1081 ADAPTABLE TOYOTA
Steering Tie Rod End

Weight: 0,884

AVALON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XX50 2018-
Front Right

Outer
4546009280

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 70

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: T-1081 ADAPTABLE TOYOTA
Steering Tie Rod End

Weight: 0,884

CAMRY

MODEL NO BODY YEAR DIRECTION OEM NO

XV70 2018-
Front Right

Outer
4546009280

North America Built

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

TEKNOROT REF: T-1081 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,884

ES300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018-
Front Right

Outer
4546009280

North America Built

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 71

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: T-1081 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,884

ES350

MODEL NO BODY YEAR DIRECTION OEM NO

2018-
Front Right

Outer
4546009280

North America Built

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

TEKNOROT REF: T-1082 ADAPTABLE TOYOTA
Steering Tie Rod End

Weight: 0,884

AVALON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XX50 2018-
Front Left

Outer
4547009180

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 72

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: T-1082 ADAPTABLE TOYOTA
Steering Tie Rod End

Weight: 0,884

CAMRY

MODEL NO BODY YEAR DIRECTION OEM NO

XV70 2018-
Front Left

Outer
4547009180

North America Built

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

TEKNOROT REF: T-1082 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,884

ES300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018-
Front Left

Outer
4547009180

North America Built

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 73

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: T-1082 ADAPTABLE LEXUS
Steering Tie Rod End

Weight: 0,884

ES350

MODEL NO BODY YEAR DIRECTION OEM NO

2018-
Front Left

Outer
4547009180

North America Built

Length: 210 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

TEKNOROT REF: TS-208 ADAPTABLE TESLA
Lateral Arm

Weight: 0,878

MODEL 3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017-
Rear Upper

Forward
104442700C

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 275

TS-BS007
Lateral Arm

Bushing
Rear Upper

Forward
104442700C*

www.teknorot.com 74

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: TS-208K ADAPTABLE TESLA
Lateral Arm Kit

Weight: 1,012

MODEL 3

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2017-
Rear Upper

Forward
104442700C

COMPONENTS NUMBER NAME DIRECTION OEM NO

with Accessories

Length: 275

TS-BS007
Lateral Arm

Bushing
Rear Upper

Forward
104442700C*

TEKNOROT REF: TS-BS007 ADAPTABLE TESLA
Lateral Arm Bushing

Weight: 0,13

MODEL 3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017-
Rear Upper

Forward
104442700C*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 48

TS-208 Lateral Arm
Rear Upper

Forward
104442700C

TS-208K Lateral Arm Kit
Rear Upper

Forward
104442700C

www.teknorot.com 75

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: V-1011 ADAPTABLE VOLKSWAGEN
Steering Tie Rod End

Weight: 0,558

ATLAS

MODEL NO BODY YEAR DIRECTION OEM NO

CA1 2018- Front Right 3QF423812B, 3QF423812A

Length: 94,5 Bolt Metric: M12X1,5 Housing Metric: M16X1,5

TEKNOROT REF: V-1011 ADAPTABLE VOLKSWAGEN
Steering Tie Rod End

Weight: 0,558

ATLAS CROSS SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CA1 2020- Front Right 3QF423812B, 3QF423812A

Length: 94,5 Bolt Metric: M12X1,5 Housing Metric: M16X1,5

www.teknorot.com 76

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: V-1012 ADAPTABLE VOLKSWAGEN
Steering Tie Rod End

Weight: 0,558

ATLAS

MODEL NO BODY YEAR DIRECTION OEM NO

CA1 2018- Front Left 3QF423811B, 3QF423811A

Length: 94,5 Bolt Metric: M12X1,5 Housing Metric: M16X1,5

TEKNOROT REF: V-1012 ADAPTABLE VOLKSWAGEN
Steering Tie Rod End

Weight: 0,558

ATLAS CROSS SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CA1 2020- Front Left 3QF423811B, 3QF423811A

Length: 94,5 Bolt Metric: M12X1,5 Housing Metric: M16X1,5

www.teknorot.com 77

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: V-1038 ADAPTABLE VOLKSWAGEN
Control Arm and Ball Joint
Assembly

Weight: 1,151

TOUAREG

MODEL NO BODY YEAR DIRECTION OEM NO

7P 2010-2017 Front Upper 7P0407021, 95834105100

Length: 229 Bolt Metric: M12X1,5

TEKNOROT REF: V-1038 ADAPTABLE PORSCHE
Control Arm and Ball Joint
Assembly

Weight: 1,151

CAYENNE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

92A 2011-2017 Front Upper 7P0407021, 95834105100

Length: 229 Bolt Metric: M12X1,5

www.teknorot.com 78

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: V-1048 ADAPTABLE VOLKSWAGEN
Lateral Arm

Weight: 0,67

GOLF

MODEL NO BODY YEAR DIRECTION OEM NO

VIII 2020-
Rear Lower

Forward
5Q0501529G

COMPONENTS NUMBER NAME DIRECTION OEM NO

Multilink Rear Axle

Length: 282,4

SB 1015
Lateral Arm

Bushing
Rear Lower

Forward Outer
5Q0501529C*

TEKNOROT REF: V-1048 ADAPTABLE AUDI
Lateral Arm

Weight: 0,67

A3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2020-
Rear Lower

Forward
5Q0501529G

COMPONENTS NUMBER NAME DIRECTION OEM NO

Multilink Rear Axle

Length: 282,4

SB 1015
Lateral Arm

Bushing
Rear Lower

Forward Outer
5Q0501529C*

www.teknorot.com 79

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: V-1048 ADAPTABLE SEAT
Lateral Arm

Weight: 0,67

LEON

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen 2020-
Rear Lower

Forward
5Q0501529G

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 282,4

SB 1015
Lateral Arm

Bushing
Rear Lower

Forward Outer
5Q0501529C*

TEKNOROT REF: VO-908 ADAPTABLE VOLVO
Control Arm and Ball Joint
Assembly

Weight: 5,789

S90

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

II 2016-
Front Right

Lower
31360832

COMPONENTS NUMBER NAME DIRECTION OEM NO

VIN: Until Ch-82542

Length: 357 Bolt Metric: M16X2

VO-844
Suspension

Ball Joint
Front Lower 32269628*, 32269627*

www.teknorot.com 80

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: VO-908 ADAPTABLE VOLVO
Control Arm and Ball Joint
Assembly

Weight: 5,789

V90

MODEL NO BODY YEAR DIRECTION OEM NO

II 2016-
Front Right

Lower
31360832

COMPONENTS NUMBER NAME DIRECTION OEM NO

VIN: Until Ch-82542

Length: 357 Bolt Metric: M16X2

VO-844
Suspension

Ball Joint
Front Lower 32269628*, 32269627*

TEKNOROT REF: VO-909 ADAPTABLE VOLVO
Control Arm and Ball Joint
Assembly

Weight: 5,789

S90

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

II 2016-
Front Left

Lower
31360831

COMPONENTS NUMBER NAME DIRECTION OEM NO

VIN: Until Ch-82542

Length: 357 Bolt Metric: M16X2

VO-844
Suspension

Ball Joint
Front Lower 32269628*, 32269627*

www.teknorot.com 81

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 December

TEKNOROT REF: VO-909 ADAPTABLE VOLVO
Control Arm and Ball Joint
Assembly

Weight: 5,789

V90

MODEL NO BODY YEAR DIRECTION OEM NO

II 2016-
Front Left

Lower
31360831

COMPONENTS NUMBER NAME DIRECTION OEM NO

VIN: Until Ch-82542

Length: 357 Bolt Metric: M16X2

VO-844
Suspension

Ball Joint
Front Lower 32269628*, 32269627*

www.teknorot.com 82

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


